Quiz Chapter 3  Circular Motion                       Name  ______________________________

All answers over 100 must be placed in scientific notation.  Please show all work,
1.
In a cyclotron, protons with mass 1.523 x 10-27 kg move in a circular path of radius 1.29-m in a large electromagnet.  If the velocity of the protons is 8.3 x 106 m/s, find

a.
the time it takes the protons to complete one revolution.

b.
the acceleration of the protons.

c.
the force the magnet exerts on the protons.


a. __________________               b. __________________              c. __________________

2.
It takes a 645 kg racing car 17.4 sec to travel at a uniform speed around a circular racetrack of 57 m radius.

a. What is the acceleration of the car?

b. What average force must the track exert on the car’s tires to produce this acceleration?

a.
__________________

b. __________________
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